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TIP on HW tonight: #2) variables t & n are in days, not years.
#3) Add 'annual’ to question at end: What 'annual’ interest rate did he charge you?
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Compounded Interest: A=P 1+ r Compounded Continuously: A = Pe™
|_‘¥ n_}.'

P = principal (amount invested) r = rate as a decimal

A = Amount affer t years t = number of years

e = Euler's number n = number of compounds per year
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1. If $5000 is invested a 6.5%)annual interest rate, how much will you have af ter 33 years if
the money is compounded:

a.  Annually Y\-:_Iol.s ’(35\ b. Quarterly ™= Y 965 t-/(ZS)
h= = A= S0 (/+7y )
AREL32.95 A= 5,265
c.  Monthly d. Continuously,

n= U (l(3\§> A= p(,r_&'_ 'MS(Svg)
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A3 A= Bpand T
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2. iII it take yo(r $ invested at 6.5% to double compounded: < oje 1
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3. If youput $5000 in an account that pays what interes{ ratenust you

receive in order to have $7500 after 5 years?
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4. Mike inve,sé $6000 19 arefirement account with a fixed annual interest m‘ri compounded

continuously) After 15years, his balance is $8099.15. What is the intd gon the
account?
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The mass of a radioactive element at time T is given b

Wher‘ The mmai mass and h is The half-life of the element.

B, After43 r's 0 20 |il|qmmsumnieofs‘rron‘rlum QO[er] decays to 030 mg. Whatis

the hal f stronfium-907 y
ﬁ (.o =2 ( S)

2 gy
(, ovl

G s
h Jog( i\ {"” of W
h(og@lx 3/@63)
}\‘ (S) :250&3@
= /Dﬁ( o’zl>

Nov 10-9:03 AM




U4D7 per1.notebook November 19, 2019

LN

6.  Whena living organism dies, its carbon-14 decays. The half-life of cgrbon-14is 5730 years.
did the mastodon

If the skeleton of a mastodon has lost 58% of its original carbon-14

die? (tothe nearest hundred years)
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